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Ms. Lutsic bought a vintage Jonas Equation
Brothers album for $10.00. The - 0% = gs
aloum decreases by 5% each year. ’ N
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Zein bought a toy car worth $6. It Equation
decreases in value by 15% each

year. | —, 1S =, %9
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Convert the percentages to decimals.
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Convert the following

50 days to years 19 months to 8 years to 26 hours to days | 4.8 days to hours
ears months
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Find the growth or decay rate for each percentage

Growth of 12%

Decay of 12.1%

Increasing by 18.3%

Decreasing by 0.03%
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Name: Algebra 2
Date:
3. X 1 2 3 4 5 6 7
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a. Fill in the table above.
b. To move to the right in the table, you multiply by ; .
c. The starting amount is 9‘ Y

X
d. The function formulais y= Q ‘§ (9}

4. X 0 1 2 3 4
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a. Fill in the table above.

b. To move to the right in the table, you multiply by w .

c. The starting amount is / (ﬂ

o)
d. The function formulais y= (17‘ (ﬂ )

The next three problems are harder because the # you multiply by is NOT a whole number.
To figure out what that number is, take a y and divide by the number directly before it.

5 x| 0 i 2 3 | .4 5 | 6 7
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a. Fill in the table above.

b. To move to the right in the table, you multiply by ¢ ll S‘ .

c. The starting amount is \ ( 2 .
X
d. The function formulais y= ‘ O ( b/! S)




